
  

 

 

U.G. DEGREE EXAMINATION –  
FEBRUARY, 2023. 

Commerce 

Third Semester 

BUSINESS LAW 

Time : 3 hours Maximum  marks : 70 

PART A — (3 × 3 = 9 marks)  

Answer any THREE questions out of Five questions  
in 100 words. 

All questions carry equal marks. 

1. Define Law. 

 \mh® Áøμ¯Ö. 

2. List out the various types of offer. 

 £À÷ÁÖ ÁøP¯õÚ \¾øPPøÍ £mi¯¼kP. 

3. What is tendering performance? 

 J¨£¢uzvß ö\¯ÀvÓß GßÓõÀ GßÚ? 
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4. State the rights of the pawnor. 
 AhSuõμ›ß E›ø©PøÍ SÔ¨¤kP. 

5. What are the characteristics of negotiable 
instruments? 

 ©õØÖ›ø© •øÓ¯õÁnzvß £s¦PÒ GßÚ? 

PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words. 

All questions carry equal marks. 

6. State the formation of contract. 
 J¨£¢uzøu E¸ÁõUSÁøuU SÔ¨¤kP. 

7. List out the rules for consideration. 
 ©Ö£¯ÝUPõÚ ÂvPøÍ £mi¯¼kP. 

8. What are performances of reciprocal promises? 
 £μì£μ ÁõUSÖvPÎß ö\¯ÀvÓßPÒ ¯õøÁ? 

9. Explain list out the essentials of contract of 
indemnity. 

 CÇ¨¥k J¨£¢uzvß •UQ¯ A®\[PøÍ ÂÍUSP. 

10. State the differences between condition and 
Warranty. 

 {£¢uøÚUS® EzuμÁõuzvØS® EÒÍ 
÷ÁÖ£õkPøÍ SÔ¨¤kP. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions  
in 500 words. 

All questions carry equal marks. 

11. Briefly explain the Indian Contract Act, 1872 and 
discuss the common contract types.  

 C¢v¯ J¨£¢ua \mh®, 1872 £ØÔ _¸UP©õP 
ÂÍUQ, ö£õxÁõÚ J¨£¢u ÁøPPøÍ¨ £ØÔ 
ÂÁõvUP. 

12. Describe the concept of undue influence and it’s 
types. 

 ÷uøÁ¯ØÓ ö\ÀÁõUS GßÓ P¸zøu²®, Auß 
ÁøPPøÍ²® ÂÁ›UP. 

13. Discuss the types of quasi contract and distinguish 
between contract and quasi contract. 

 Aøμ J¨£¢uzvß ÁøPPøÍ ÂÁõvUP ©ØÖ® 
J¨£¢u® ©ØÖ® Aøμ J¨£¢uzøu ÷ÁÖ£kzxP. 

14. Discuss the scope of contract of indemnity and 
nature of contract of indemnity. 

 CÇ¨¥mk J¨£¢uzvß ÷|õUP® ©ØÖ® CÇ¨¥mk 
J¨£¢uzvß ußø©ø¯ ÂÁõvUP. 
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15. What do you mean by bills of exchange? What are 
the elements of bills of exchange? 

 ©õØÖsi¯ÀPÒ Gß£uß ö£õ¸Ò ¯õx? 
©õØÖsi¯ÀPÎß TÖPÒ ¯õøÁ? 

16. Distinguish between contract of Indemnity and 
contract of guarantee. 

 CÇ¨¥mk J¨£¢u® ©ØÖ® EzuμÁõu J¨£¢u® 
BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

17. Evaluate the characteristics of pledge and rights 
and duties of pawnor and pawnee. 

 Ah©õÚzvß £s¦PÒ ©ØÖ® AhS øÁzuÁº 
©ØÖ® AhS ¤i¨£Á›ß E›ø©PÒ ©ØÖ® 
Phø©PøÍ ©v¨¥k ö\´P. 

––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
FEBRUARY, 2023. 

Commerce 

Third Semester 

COST ACCOUNTING 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. Define cost accounting. 

 ö\»Ä PnUQ¯ø» Áøμ¯ÖUPÄ®. 

2. Explain: (a) maximum level (b) minimum level  
(c) EOQ 

 ÂÍUPÄ® : (A) AvP£m\ {ø» (B) SøÓ¢u£m\ 
{ø» (C) EOQ. 

3. Write a short note on labor turn over. 

 öuõÈ»õÍº ÂØÓ•uÀ £ØÔ¯ ]Ö SÔ¨ø£ 
GÊuÄ®. 

 UG–CS–1141 BCOS–32
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4. The following data is available in respect of job no: 
876: direct material; Rs. 17,000; wages 160 hours 
at Rs.50 per hour. Variable overheads incurred for 
all jobs Rs. 80,000 for 2000 labours. Fixed 
overheads are absorbed at Rs. 20 per hour: Find 
the profit or loss from the job is billed for  
Rs. 40,000. 

 ÷Áø» Gs : 876: ÷|μi ö£õ¸Ò öuõhº£õP 
¤ßÁ¸® uμÄ EÒÍx; ¹.17,000; J¸ ©o 
÷|μzvØS ¹.50 GÚ 160 ©o ÷|μ® Fv¯®. 
AøÚzx ÷Áø»PÐUS® HØ£k® ©õÓUTi¯ ÷©À 
{ø»PÒ ¹. 2,000 öuõÈ»õÍºPÐUS 80,000. 
{ø»¯õÚ ÷©À{ø»PÒ J¸ ©o ÷|μzvØS 20: 
÷Áø»°ß »õ£® AÀ»x |èhzøuU PshÔ¯  
¹. 40,000. 

5. What are the components of standard costing? 

 {ø»¯õÚ Âø»°ß TÖPÒ ¯õøÁ? 

PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words. 

All questions carry equal marks. 

6. What is cost? Classify cost. 

 ö\»Ä GßÚ? ö\»øÁ ÁøP¨£kzuÄ®. 
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7. From the particulars given below write up the 
stores ledger card: 2007 

January 1 Opening stock 1000 units at Rs.26 each 

 5 Purchased 500 units at Rs. 24.50 each

 7 Issued 750 units 

 10 Purchased 1500 units at Rs. 24 each 

 12 Issued 1100 units 

 15 Purchased 1000 units at Rs.25 each 

 17 Issued 500 units at Rs. 24.50 each

 18 Issued 300 units 

 25 Purchased 1500 units at Rs. 26 each 

 29 Issued 1500 units 

 Adopt the FIFO method of issue and ascertain 
value of the closing stock. 

R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎÀ C¸¢x 
ì÷hõºì ö»máº Põºøh GÊuÄ®: 2007 

áÚÁ› 1 öuõhUP £[S 1000 ³ÛmPÒ JÆöÁõßÖ® 
¹.26 

 5 ÷£º 500³ÛmPøÍ ¹. JÆöÁõßÖ® 24.50 

 7 750A»SPøÍ öÁÎ°mhx 

 10 ÷£º 1500 ³ÛmPøÍ ¹.JÆöÁõßÖ® 24 

 12 1100 A»SPøÍ öÁÎ°mhx 

 15 ÷£º 1000 ³ÛmPøÍ u»õ ¹. 25&US 
Áõ[QÚõºPÒ 
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 17 500 ³ÛmPøÍ ¹. JÆöÁõßÖ® 24.50 

 18 300 A»SPøÍ öÁÎ°mhx 

 25 ÷£º 1500 ³ÛmPøÍ ¹.JÆöÁõßÖ® 26  

 29 1500 A»SPøÍ öÁÎ°mhx. 

 FIFO öÁÎ±mk •øÓø¯¨ ¤ß£ØÔ, CÖv¨ 
£[Qß ©v¨ø£U PshÔÄ®.  

8. What is meant by Overhead’? What are its various 
classification? 

 ÷©À{ø» GßÓõÀ GßÚ? Auß £À÷ÁÖ 
ÁøP¨£õk GßÚ? 

9. Distinguish between cost accounting and financial 
accounting. 

 ö\»ÄU PnUQ¯À ©ØÖ® {vU PnUQ¯ø» 
÷ÁÖ£kzx[PÒ. 

10. What are the four steps in variances analysis? 

 ©õÖ£õkPÒ £S¨£õ´ÂÀ |õßS £iPÒ GßÚ? 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions  
in 500 words. 

All questions carry equal marks. 

11. Describe the nature and scope of costs accounting. 

 ö\»Ä PnUQ¯¼ß ußø© ©ØÖ® ÷|õUPzøu 
ÂÁ›UPÄ®. 
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12. Describe the nature and scope of costs accounting. 

 H¤] £S¨£õ´Ä GßÓõÀ GßÚ? Auß |ßø© 
wø©PøÍ ÂÍUSP. 

13. Briefly explain the various methods of costing. 

 öuõÈ»õÍº Á¸Áõ´UPõÚ £À÷ÁÖ Põμn[PÒ 
GßÚ? ÂÍUP. 

14. Briefly explain the various methods of costing. 

 ö\»Ä ö\´²® £À÷ÁÖ •øÓPøÍ _¸UP©õP 
ÂÍUPÄ®. 

15. From the following data prepare a unit cost 
statement showing the prime cost of product A 
and B together with analysis of variances. 

Standard 600 kgs at  
Rs 500 

90 kgs at Rs 3.00 

Material 
Actual 580 kgs at  

Rs. 5.50 
100 kgs at Rs. 2.50

Standard 80 hrs at Rs. 2 16 hrs at Rs. 2.80 

Labour 
Actual 92 hrs at  

Rs 1.75 
14 hrs at Rs 2.60 
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 ¤ßÁ¸® uμÄPÎ¼¸¢x, ©ØÖ® u¯õ›¨¦PÎß 
•ußø© Âø»ø¯U Põmk® J¸ ³Ûm ö\»Ä 
AÔUøPø¯z u¯õ›UPÄ®.  

{ø»¯õÚ 600 kgs at  
Rs 500 

90 kgs at Rs 3.00 

ö£õ¸Ò 
Esø©¯õÚ 580 kgs at  

Rs. 5.50 
100 kgs at Rs. 2.50

{ø»¯õÚ 80 hrs at Rs. 2 16 hrs at Rs. 2.80 EøÇ¨¦ 

Esø©¯õÚ 92 hrs at  
Rs 1.75 

14 hrs at Rs 2.60 

16. State the advantages and disadvantages of cost 
Accounting. 

 ö\»Ä PnUQ¯¼ß |ßø©PÒ ©ØÖ® wø©PøÍU 
SÔ¨¤hÄ®. 

17. What is meant by ABC analysis? Explain its uses 
and steps in calculating ABC analysis. 

 H¤] £S¨£õ´Ä GßÓõÀ GßÚ? H¤] 
£S¨£õ´øÁU PnUQkÁvÀ Auß £¯ß£õkPÒ 
©ØÖ® £iPøÍ ÂÍUS[PÒ. 

 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION -  
FEBRUARY, 2023 

Commerce 

Third Semester 

BUSINESS STATISTICS 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

1. Define statistics. 

 ¦ÒÎ ÂÁμ[PøÍ Áøμ¯ÖUPÄ®. 

2. The mean of a data is 25.6 and its coefficient of 
variation is 18.75. Find the standard deviation. 

 uμÂß \μõ\› 25.6 ©ØÖ® Auß ©õÖ£õmiß 
SnP® 18.75 BS®. {ø»¯õÚ Â»Pø»U 
PshÔ¯Ä®. 

3. What is scatter diagram? 

 ]uÓÀ Áøμ£h® GßÓõÀ GßÚ? 

 UG-CS-1142 BCOSE–31



 UG-CS-1142 2

4. What is a simple index number? 

 GÎ¯ SÔ±mk Gs GßÓõÀ GßÚ? 

5. Explain the term utility. 

 £¯ß£õk GßÓ ö\õÀø» ÂÍUS[PÒ. 

PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of five questions in 
200 words. 

6. Explain the uses and limitation of statistics. 

 ¦ÒÎ ÂÁμ[PÎß £¯ß£õkPÒ ©ØÖ® Áμ®¦PøÍ 
ÂÍUS[PÒ. 

7. The following table gives the values of mean and 
variance of heights and weights of the 10th  
standard students of a school. Which is more 
varying than the other? 

 Height  Weight  
Mean  155 cm 46.50 kg2

Variance  72.25 cm2 28.09 kg2

 J¸ £ÒÎ°ß 10&® ÁS¨¦ ©õnÁºPÎß E¯μ® 
©ØÖ® GøhPÎß \μõ\› ©ØÖ® ©õÖ£õmiß 
©v¨¦PøÍ ¤ßÁ¸® AmhÁøn ÁÇ[SQÓx. 

 E¯μ® Gøh 

\μõ\›  155 cm 46.50 kg2 
©õÖ£õk 72.25 cm2 28.09 kg2 

 ©ØÓøu Âh ÷ÁÖ Gx? 
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8. Bring out the importance of correlation. 

 öuõhº¦PÎß •UQ¯zxÁzøu öÁÎ÷¯ öPõsk 
Áõ¸[PÒ. 

9. Calculate cost of living index number using 
Family Budget method from the following data. 

Items  Weight Price in 
Base year 

Price in 
current year

Food 10 150 225 

House Rent 5 50 150 

Clothing 2 30 60 

Fuel 3 30 75 

Others 5 50 75 

 ¤ßÁ¸® uμÄPÎ¼¸¢x Sk®£ £möám 
•øÓø¯¨ £¯ß£kzv ÁõÌUøPa ö\»ÄU 
SÔ±mk GsønU PnUQk[PÒ. 
ö£õ¸mPÒ Gøh Âø»°À  

Ai¨£øh Bsk
Âø»°À 

|h¨£õsk

EnÄ 10 150 225 
Ãmk ÁõhøP 5 50 150 
xoPÒ 2 30 60 
G›ö£õ¸Ò 3 30 75 
Cuμ 5 50 75 

10. Describe the components of time series analysis. 

 ÷|μz öuõhº £S¨£õ´Âß TÖPøÍ ÂÁ›UPÄ®. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

11. Describe the methods of collecting data. 

 uμÄ ÷\P›US® •øÓPøÍ ÂÁ›UPÄ®. 

12. The consumption of number of guava and orange 

on a particular week by a family are given below. 

Which fruit is consistently consumed by the 

family? 

Number of Guavas 3 5 6 4 3 5 4

Number of Oranges  1 3 7 9 2 6 2

 J¸ Sk®£® J¸ SÔ¨¤mh ÁõμzvÀ öPõ´¯õ 

©ØÖ® Bμg_ \õ¨¤k® GsoUøP R÷Ç 

öPõkUP¨£mkÒÍx. G¢u¨ £Çzøu Sk®£zvÚº 

öuõhº¢x \õ¨¤kQÓõºPÒ? 

öPõ´¯õUPÎß GsoUøP 3 5 6 4 3 5 4

Bμg_PÎß GsoUøP 1 3 7 9 2 6 2

13. Explain the various types of correlation. 

 £À÷ÁÖ ÁøP¯õÚ öuõhº¦PøÍ ÂÍUS[PÒ. 
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14. Compute Laspeyre’s, Paasche’s, Marshall- 
Edgeworth, Dorbish — Bowley and Fisher’s Index 
numbers for 2000 from the following data. 

Items Base year Current year 

 Price Expenditure Price Expenditure

A 50 100 60 180 

B 40 120 40 200 

C 100 100 120 12 

D 20 80 25 100 

 ¤ßÁ¸® uμÄPÎ¼¸¢x 2000UPõÚ Laspeyre’s, 
Paasche’s, Marshall-Edgeworth, Dorbish – Bowley 
©ØÖ® Fisher’s Index GsPøÍU PnUQk[PÒ. 

ö£õ¸mPÒ Ai¨£øh 
Bsk  

|h¨¦ Bsk 

 Âø» ö\»ÄPÒ Âø» ö\»ÄPÒ

A 50 100 60 180 

B 40 120 40 200 

C 100 100 120 12 

D 20 80 25 100 
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15. Calculate the seasonal Indices from the following 
data using the average method. 

Year  I Quarter  II Quarter  III Quarter IV Quarter

1974 72 68 80 70 

1975 76 70 82 74 

1976 74 66 84 80 

1977 76 74 84 78 

1978 78 74 86 82 

 \μõ\› •øÓø¯¨ £¯ß£kzv ¤ßÁ¸® 
uμÄPÎ¼¸¢x £¸ÁPõ» SÔ±kPøÍU 
PnUQhÄ®. 

Bsk I Põ»õsk II Põ»õsk III Põ»õsk IV Põ»õsk

1974 72 68 80 70 

1975 76 70 82 74 

1976 74 66 84 80 

1977 76 74 84 78 

1978 78 74 86 82 

16. Calculate Karl Pearson’s co-efficient of correlation 
of the correlation for the following data regarding 
price and demand of a certain commodity. 

Price (Rs.) 21 22 23 24 25 26 27 28 29

Demand (in 
thousand units) 

20 19 19 17 17 16 16 15 14
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 J¸ SÔ¨¤mh ö£õ¸Îß Âø» ©ØÖ® ÷uøÁ 
öuõhº£õÚ ¤ßÁ¸® uμÄPÐUS PõºÀ ¤¯º\Ûß 
Cønz öuõhº¦PÎß Cønz vÓøÚU 
PnUQhÄ®. 

Âø» (¹.) 21 22 23 24 25 26 27 28 29

÷uøÁ (B°μ® A»SPÒ) 20 19 19 17 17 16 16 15 14

17. What is meant by Rank Correlation? Bring out its 
merits and demerits? 

 ÷μ[U öuõhº¦ GßÓõÀ GßÚ? Auß |ßø© 
wø©PøÍ öÁÎ÷¯ öPõsk ÁμÁõ? 

 

—————— 


